Exploring Limits ... Set 2

For the function f whose graph is given, state the value of the given quantity, if it exists. Identify any
discontinuities in the graph of f.
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Graph the piecewise-defined function, then state the value of the given quantity, if it exists. Identify
any discontinuities in the graph of f.
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Graph the rational function. Find all infercepts and asymptotes. Then state the value of the limit, if it
exists.
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Evaluate the limit if it exists, or stafe “does not exist.”
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50. Given f(x) =x, why does the limit as x approaches zero not exist?

51. Given a function, f(x), if lin; f(x) =4 and f(2) = —3, which of the following is frue?
xX—

There is a point discontinuity at x = 2
There is a jump discontinuity at x = 2
There is a line discontinuity at x = 2
The function is continuous af x = 2

anoo

52. Given a function, f(x), if xgrlla f(x) =5and f(—=3) = 5, which of the following is frue?

There is a point disconfinuity at x = —3
There is a jump discontinuity at x = =3
There is a line discontinuity at x = -3
The function is continuous at x = =3

anog

53. Given a function, f(x), if xl—i}li- flx) =3, xl—i-nbﬂ:x) =—1and f(4) =9, which of the following is
fruee

There is a point discontinuity at x = 4
There is a jump discontinuity at x = 4
There is a line discontinuity at x = 4
The function is continuous at x = 4

anogo

54, Given a function, f(x), if lin[}_f{jx) = —co, lin&+ f(x) = — e and f(0) is undefined, which of the
X— Xx—

following is tfrue?

There is a point disconfinuity at x =0
There is a jump discontinuity at x =0
There is a line discontinuity at x =0
The function is continuous at x = 0

anog



